Cl	P 61075	59 -Northeast Neighborhood Storm System Improvements & Linv Watermain Relocation ; Bid Opening January 23, 2013	vorth Road East														
						U	NIT PRICE IN	FIGURE	S	EXTENSION							
REF.	ITEM		ESTIMATED		MATEF	RIAL	LABOR	О	TOTAL SUM OF MATERIAL AND LABOR	TOTAL SUM IN FIGURES	Conie Constru	action Co.	Stillion Brothers	s Excavating	Rock River C	Construction	John Eramo &
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$ "	.00"	\$ ".00"	\$ ".00"	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)
1		Clearing and Grubbing	1	LS				- (	60,000.00 0	60,000.00	\$6,000.00	\$6,000.00	\$1,000.00	\$1,000.00	\$15,000.00	\$15,000.00	\$15,000.00
2		Sidewalk Removed and Disposed Of Headwall Removed	22	SF EA					12.00 300.00	264.00 600.00	\$5.00 \$100.00	\$110.00 \$200.00	\$15.00 \$500.00	\$330.00 \$1,000.00	\$10.00 \$500.00	\$220.00 \$1,000.00	\$2.00 \$100.00
4		Sewer Pipe Removed	165	LF					20.00	3,300.00	\$8.00	\$1,320.00	\$10.00	\$1,650.00	\$300.00 \$15.00	\$2,475.00	\$2.00
5		Storm Sewer Inlet Protection	55	EA				-	125.00	6,875.00	\$80.00	\$4,400.00	\$200.00	\$1,000.00	\$100.00	\$5,500.00	\$85.00
6		Driveway Replacement per 2160, Type III B	26	CY					400.00	10,400.00	\$315.00	\$8,190.00	\$240.00	\$6,240.00	\$300.00	\$7,800.00	\$255.00
7		Permanent Pavement Replacement per 1441 w/ heat	17	CY					500.00	8,500.00	\$720.00	\$12,240.00	\$330.00	\$5,610.00	\$492.00	\$8,364.00	\$550.00
8	252	Permanent Pavement Replacement per 1441 w/o heat	139	CY					350.00	48,650.00	\$210.00	\$29,190.00	\$330.00	\$45,870.00	\$258.00	\$35,862.00	\$160.00
9	252	Permanent Pavement Replacement per 1441 Type V	15	CY					500.00	7,500.00	\$290.00	\$4,350.00	\$285.00	\$4,275.00	\$407.00	\$6,105.00	\$250.00
10	252	Permanent Pavement Replacement per Section A Sheet 17	23	SY					600.00	13,800.00	\$145.00	\$3,335.00	\$145.00	\$3,335.00	\$250.00	\$5,750.00	\$160.00
11	253	Temporary Pavement Replacement	616	SY					20.00	12,320.00	\$5.00	\$3,080.00	\$25.00	\$15,400.00	\$22.00	\$13,552.00	\$0.02
12		Pavement Planning	1,695	SY					6.00	10,170.00	\$3.00	\$5,085.00	\$3.00	\$5,085.00	\$7.50	\$12,712.50	\$3.00
13		Asphalt Concrete	117	TON					100.00	11,700.00	\$115.00	\$13,455.00	\$200.00	\$23,400.00	\$177.00	\$20,709.00	\$119.00
14		Tack Coat	290	GAL					4.00	1,160.00	\$3.00	\$870.00	\$3.00	\$870.00	\$3.00	\$870.00	\$2.50
15		Crack Seal	435	LF				_	4.00	1,740.00	\$2.00	\$870.00	\$2.00	\$870.00	\$4.00	\$1,740.00	\$2.00
16		Rock Channel Protection - Type B	30	CY					100.00	3,000.00 45,000.00	\$100.00 \$900.00	\$3,000.00 \$27,000.00	\$100.00 \$2,000.00	\$3,000.00 \$60,000.00	\$90.00 \$2.000.00	\$2,700.00 \$60,000.00	\$85.00 \$1,000.00
17 18		Standard Catch Basin, per Std. Dwg. Type AA-S133 Standard Catch Basin, per Std. Dwg. Type AA-S134	30	EA EA				-	2,000.00	2.000.00	\$900.00 \$900.00	\$27,000.00	\$2,000.00	\$2,500.00	\$2,500.00	\$2,500.00	\$1,000.00
19		Standard Manhole, Type C, per Std. Dwg. AA-S102	8	EA					2,400.00	19,200.00	\$1,400.00	\$11,200.00	\$1,500.00	\$12,000.00	\$3,500.00	\$2,300.00	\$1,500.00
20		Standard Curb and Gutter Inlet w/ Mountable frame per AA-S125	1	EA					2,200.00	2,200.00	\$1,200.00	\$1,200.00	\$1,500.00	\$1,500.00	\$2,500.00	\$2,500.00	\$1,300.00
21		Standard Headwall per AA-S166	3	EA					5,000.00	15,000.00	\$1,800.00	\$5,400.00	\$4,000.00	\$12,000.00	\$2,100.00	\$6,300.00	\$3,000.00
22		6" Underdrain	128	LF					18.00	2,304.00	\$25.00	\$3,200.00	\$110.00	\$14,080.00	\$15.00	\$1,920.00	\$25.00
23		Nested Guardrail, Type 5, with Tubular Backup	231	LF					90.00	20,790.00	\$72.00	\$16,632.00	\$80.00	\$18,480.00	\$91.00	\$21,021.00	\$75.00
24		Anchor Assembly, Type B	1	EA					1,600.00	1,600.00	\$1,500.00	\$1,500.00	\$2,000.00	\$2,000.00	\$1,685.00	\$1,685.00	\$1,600.00
25	606	W-Beam Flared End, per Std. Dwg. GR-1.1	5	EA					40.00	200.00	\$30.00	\$150.00	\$200.00	\$1,000.00	\$155.00	\$775.00	\$31.00
26	606	Bridge Terminal Assembly, Type 4	1	EA					700.00	700.00	\$553.00	\$553.00	\$1,500.00	\$1,500.00	\$600.00	\$600.00	\$570.00
27		Guardrail, Type 5	25	LF					20.00	500.00	\$32.00	\$800.00	\$66.00	\$1,650.00	\$30.00	\$750.00	\$31.00
28		4" Concrete Walk (include base)	50	SF					12.00	600.00	\$25.00	\$1,250.00	\$56.00	\$2,800.00	\$8.00	\$400.00	\$20.00
29		Mountable Curb and Gutter	28	LF					30.00	840.00	\$50.00	\$1,400.00	\$100.00	\$2,800.00	\$25.00	\$700.00	\$45.00
30		Maintaining Traffic	1	LS					50,000.00	50,000.00	\$14,000.00	\$14,000.00	\$9,500.00	\$9,500.00	\$20,000.00	\$20,000.00	\$15,000.00
31		Water	2	M. GAL					100.00	200.00	\$10.00	\$20.00	\$100.00	\$200.00	\$25.00	\$50.00	\$50.00
32		Calcium Chloride	2	TON					500.00	1,000.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$500.00	\$1,000.00	\$400.00
33		Construction Staking Layout  Mobilization	1	LS					30,000.00	30,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$6,000.00	\$6,000.00	\$8,000.00
35		Topsoil Furnished and Placed (as Directed)	300	LS CY				10	60.00	100,000.00	\$10,000.00 \$25.00	\$10,000.00 \$7,500.00	\$3,500.00 \$30.00	\$3,500.00 \$9,000.00	\$25,000.00 \$32.00	\$25,000.00 \$9,600.00	\$20,000.00 \$45.00
36		Seed and Mulching	1,423	SY				-	4.00	5,692.00	\$5.00	\$7,115.00	\$1.50	\$2,134.50	\$2.65	\$3,770.95	\$3.00
37		Commercial Fertilizer	1,123	TON					500.00	500.00	\$650.00	\$650.00	\$900.00	\$900.00	\$500.00	\$500.00	\$300.00
38		Agricultural Liming	5	TON					400.00	2,000.00	\$20.00	\$100.00	\$500.00	\$2,500.00	\$50.00	\$250.00	\$50.00
39		Water	10	M. GAL.					40.00	400.00	\$50.00	\$500.00	\$100.00	\$1,000.00	\$1.00	\$10.00	\$1.00
40	801	6" Ductile Iron Water Pipe and Fittings	750	LF					115.00	86,250.00	\$115.00	\$86,250.00	\$60.00	\$45,000.00	\$85.00	\$63,750.00	\$115.00
41	801	12" Ductile Iron Water Pipe and Fittings	38	LF					150.00	5,700.00	\$100.00	\$3,800.00	\$150.00	\$5,700.00	\$175.00	\$6,650.00	\$300.00
42	801	Concrete Blocking, Class C, Increase or Decrease	2	CY					125.00	250.00	\$65.00	\$130.00	\$250.00	\$500.00	\$240.00	\$480.00	\$100.00
43	801	Fittings, Increase or Decrease	600	LBS					3.00	1,800.00	\$1.25	\$750.00	\$4.00	\$2,400.00	\$2.00	\$1,200.00	\$1.90
44		6" Valve and Appurtenances	7	EA				_	1,000.00	7,000.00	\$900.00	\$6,300.00	\$1,000.00	\$7,000.00	\$850.00	\$5,950.00	\$750.00
45		Curb Box (as Directed)	18	EA					200.00	3,600.00	\$25.00	\$450.00	\$200.00	\$3,600.00	\$100.00	\$1,800.00	\$25.00
46		3/4" Water Service Tap Transferred	13	EA	<u> </u>				1,200.00	15,600.00	\$900.00	\$11,700.00	\$2,500.00	\$32,500.00	\$1,500.00	\$19,500.00	\$1,250.00
47		3/4" Water Service Tap Transferred (as Directed)	5	EA					1,200.00	6,000.00	\$900.00	\$4,500.00	\$2,500.00	\$12,500.00	\$1,200.00	\$6,000.00	\$750.00
48		3/4" Water Service Tap, Complete (as Directed)	5	EA	<u> </u>				5,000.00	10,000.00	\$900.00 \$2,000.00	\$1,800.00	\$1,400.00 \$3,000.00	\$2,800.00	\$410.00	\$820.00	\$500.00
49 50		Relocate 6" Water Line (as Directed) Fire Hydrant	3	EA EA	-			-+	3,000.00 3,100.00	15,000.00 9,300.00	\$2,000.00 \$3,000.00	\$10,000.00 \$9,000.00	\$3,000.00	\$15,000.00 \$12,000.00	\$2,600.00 \$2,500.00	\$13,000.00 \$7,500.00	\$1,000.00 \$2,500.00
51		6" Hydrant Extension	2	EA EA	<del>                                     </del>				450.00	9,300.00	\$3,000.00	\$9,000.00	\$1,020.00	\$12,000.00	\$2,500.00	\$7,500.00	\$2,500.00
52		12" Pipe with Type I Bedding	816	LF	<b>-</b>			-	55.00	44,880.00	\$75.00	\$61,200.00	\$1,020.00	\$2,040.00	\$35.00	\$28,560.00	\$88.00
53		12" Pipe with Type I Bedding, including Item 912 Backfill	958	LF				-	70.00	67,060.00	\$90.00	\$86,220.00	\$60.00	\$57,480.00	\$50.00	\$47,900.00	\$90.00
54		12" Type IV RCP, including Item 912 Backfill	301	LF				1	125.00	37,625.00	\$105.00	\$31,605.00	\$60.00	\$18,060.00	\$55.00	\$16,555.00	\$100.00
55		18" Pipe with Type I Bedding	363	LF					75.00	27,225.00	\$105.00	\$38,115.00	\$65.00	\$23,595.00	\$40.00	\$14,520.00	\$110.00
		. 1				-		1	-			,		,		, ,-	

56	901	42" Type IV RCP, including Item 912 Backfill	35	LF		350.00	12,250.00	\$500.00	\$17,500.00	\$150.00	\$5,250.00	\$350.00	\$12,250.00	\$550.00
57	906	Stone Foundation - (as Directed)	25	CY		50.00	1,250.00	\$10.00	\$250.00	\$155.00	\$3,875.00	\$55.00	\$1,375.00	\$25.00
58	910	Plain Concrete Encasement of 12" Diameter Pipe	399	LF		25.00	9,975.00	\$10.00	\$3,990.00	\$22.00	\$8,778.00	\$40.00	\$15,960.00	\$15.00
59	918	Sanitary House service relocation, per Detail B/17 (As Directed)	10	EA		1,750.00	17,500.00	\$1,000.00	\$10,000.00	\$2,000.00	\$20,000.00	\$1,050.00	\$10,500.00	\$500.00
60	Special	Linear Ditch Grading, per Detail A/17	890	LF		10.00	8,900.00	\$15.00	\$13,350.00	\$12.00	\$10,680.00	\$6.00	\$5,340.00	\$5.00
61	Special	Inlet Adjusted (as Directed)	5	EA		500.00	2,500.00	\$150.00	\$750.00	\$200.00	\$1,000.00	\$300.00	\$1,500.00	\$500.00
62	Special	Survey Coordinates	1	LS		5,000.00	5,000.00	\$1,410.00	\$1,410.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	\$600.00
63	Special	Expose Gas Service prior to construction, as per plan	17	EA		500.00	8,500.00	\$500.00	\$8,500.00	\$400.00	\$6,800.00	\$850.00	\$14,450.00	\$100.00
64	Special	Daily Street Cleanings (As Directed)	1	LS		15,000.00	15,000.00	\$1,500.00	\$1,500.00	\$5,000.00	\$5,000.00	\$2,354.00	\$2,354.00	\$500.00
65	Special	Wooden Fence (Removed and Reinstalled)	55	LF		60.00	3,300.00	\$63.00	\$3,465.00	\$70.00	\$3,850.00	\$40.00	\$2,200.00	\$90.00
66	Special	Metal Fence (Removed and Reinstalled)	85	LF		50.00	4,250.00	\$30.00	\$2,550.00	\$35.00	\$2,975.00	\$25.00	\$2,125.00	\$35.00
67	Special	3"-6" DBH Norway Spruce (Picea Abies) Tree (as Directed)	10	EA		300.00	3,000.00	\$425.00	\$4,250.00	\$250.00	\$2,500.00	\$400.00	\$4,000.00	\$300.00
68	Special	3"-6" DBH White Pine (Pinus Strobus) Tree (as Directed)	10	EA		300.00	3,000.00	\$310.00	\$3,100.00	\$250.00	\$2,500.00	\$300.00	\$3,000.00	\$300.00
69	SS-27	Project Identification Sign, Per Detail Sheet 4	4	EA		800.00	7,200.00	\$600.00	\$2,400.00	\$750.00	\$3,000.00	\$500.00	\$2,000.00	\$500.00
			•			Sub-Total	\$ 958,520	Sub-Total	\$636,000.00	Sub-Total	\$638,474.50	Sub-Total	\$647,530.45	Sub-Total
70	Special	Force Account (.20 x Sum of Items 1 through 63)				Force Acct	\$ 191,704	Force Acct (1)	\$127,200.00	Force Acct (1)	\$127,694.90	Force Acct (1)	\$129,506.09	Force Acct (1)
			•			TOTAL	\$ 1,150,224	TOTAL	\$763,200.00	TOTAL	\$766,169.40	TOTAL	\$777,036.54	TOTAL
						•	·	% Diff from Engineers Estimate	-33.65%		-33.39%		-32.44%	
The	Bidder's	Total is for information only at the time of opening bids. The City w	ill make the extension	n and if the	ere are			g						
diff	erences	in the totals, the Unit of Lump Sum Prices shall govern.						Sub-Total	\$127,200.00	Force Acct (4)	\$127,694.90	Sub-Total	\$129,506.09	Force Acct (4)
The	Bidder s	hall insert its Contract Compliance Certification Number on the follow	wing line or attach a	completed	application .			TOTAL	\$763,200.00	TOTAL	\$766,169.40	TOTAL	\$777,036.54	TOTAL
Con	tract Co	mpliance No.:						Bond Amount (Page P- 45)	\$76,320.00	Bond Amount (Page P- 45)	\$76,531.56	Bond Amount (Page P- 45)	\$777,036.54	Bond Amount (Page P- 45)
Fede	eral I.D.	No.:						Bonding Company (Page P-45)	Ohio Farmers Insurance Co.	Bonding Company (Page P-45)	American Southern Ins. Co.	Bonding Company (Page P-45)	Westchester Fire Ins. Co.	Bonding Company (Page P-45)
								Proposal Bond Amount Required (P-45)	\$76,320.00	Proposal Bond Amount Required (P-45)	\$76,531.56	Proposal Bond Amount Required (P-	\$77,703.65	Proposal Bond Amount Required (P-45)
								Contract Compliance No.	21 0000004	Contract Compliance No.	NI/A	Contract Compliance	20 5522762	Contract Compliance

Bid Tab Notes & Comments

Force Acct 1.) Note one indicates that the formula does not include the amount for Ref. Number 70, Sanitary Service Relocated/Repair, as part of the Subtotal which impacts the Total.

Force Acct 2.) The Contractor used the formula indicated in Ref Number 71.

Force Acct 3.) The Force Account calculated is based on the instructions in Ref. Number 71. It is not what was submitted by the Contractor.

Sub-Total	\$127,200.00	Force Acct (4)	\$127,694.90	Sub-Total	\$129,506.09	Force Acct (4)
TOTAL	\$763,200.00	TOTAL	\$766,169.40	TOTAL	\$777,036.54	TOTAL
Bond Amount (Page P- 45)	\$76,320.00	Bond Amount (Page P- 45)	\$76,531.56	Bond Amount (Page P- 45)	\$777,036.54	Bond Amount (Page P- 45)
Bonding Company (Page	Ohio Farmers	Bonding Company (Page	American Southern	Bonding Company	Westchester Fire Ins.	Bonding Company
P-45)	Insurance Co.	P-45)	Ins. Co.	(Page P-45)	Co.	(Page P-45)
Proposal Bond Amount Required (P-45)	\$76 320 00	Proposal Bond Amount Required (P-45)	8/6 531 56	Proposal Bond Amount Required (P-	8///03/65	Proposal Bond Amount Required (P-45)
Contract Compliance No. (Page P-6)	31-0800904	Contract Compliance No. (Page P-6)	N/A	Contract Compliance No. (Page P-6)	20-5532763	Contract Compliance No. (Page P-6)
Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)
Local Vendor? (Page P- 11)	Y	Local Vendor? (Page P- 11)	N	Local Vendor? (Page P-	Y	Local Vendor? (Page P- 11)
Addendum Acknowledgement	Y	Addendum Acknowledgement	Y	Addendum Acknowledgement	Y	Addendum Acknowledgement
Completed? (Page-43) Proposal Affidavit Completed? (Page P-38)	Y	Completed? (Page-43) Proposal Affidavit Completed? (Page P-38)	Y	Completed? (Page-43) Proposal Affidavit Completed? (Page P-	Y	Completed? (Page-43) Proposal Affidavit Completed? (Page P-38)

Force Acct 4.) The Force Acct calculation includes all Item numbers required for the bid. This is the amount that the contractor submitted
The apparent low bidder is

	[				[								l	
z Sons, Inc.	Danbert,	Inc.	Trucco Cons	struction	Columbus Asp	halt Paving	Darby Creek I	Excavating	McDaniel's Cons	truction Corp.	Decker Con	struction	Beheler Exca	vating, Inc.
Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)	Unit Price (\$)	Amount (\$)
\$15,000.00	\$8,485.00	\$8,485.00	\$5,400.00	\$5,400.00	\$7,000.00	\$7,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$8,330.40	\$8,330.40	\$25,000.00	\$25,000.00
\$44.00 \$200.00	\$7.65 \$219.00	\$168.30 \$438.00	\$6.00 \$700.00	\$132.00 \$1,400.00	\$6.00 \$930.00	\$132.00 \$1,860.00	\$10.00 \$300.00	\$220.00 \$600.00	\$12.00 \$300.00	\$264.00 \$600.00	\$4.10 \$1,465.20	\$90.20 \$2,930.40	\$25.50 \$1,500.50	\$561.00 \$3,001.00
\$330.00	\$219.00 \$25.00	\$4,125.00	\$700.00	\$1,400.00 \$5,775.00	\$930.00 \$15.70	\$1,860.00	\$300.00 \$10.00	\$1,650.00	\$300.00	\$3,630.00	\$1,465.20 \$33.66	\$2,930.40 \$5,553.90	\$1,500.50	\$7,425.00
\$4,675.00	\$130.00	\$7,150.00	\$70.00	\$3,850.00	\$102.00	\$5,610.00	\$80.00	\$4,400.00	\$80.00	\$4,400.00	\$80.24	\$4,413.20	\$170.00	\$9,350.00
\$6,630.00	\$352.00	\$9,152.00	\$360.00	\$9,360.00	\$335.00	\$8,710.00	\$550.00	\$14,300.00	\$340.00	\$8,840.00	\$305.65	\$7,946.90	\$300.00	\$7,800.00
\$9,350.00	\$953.00	\$16,201.00	\$500.00	\$8,500.00	\$455.00	\$7,735.00	\$530.00	\$9,010.00	\$550.00	\$9,350.00	\$450.00	\$7,650.00	\$450.00	\$7,650.00
\$22,240.00 \$3,750.00	\$241.00 \$268.00	\$33,499.00 \$4,020.00	\$325.00 \$225.00	\$45,175.00 \$3,375.00	\$275.00 \$315.00	\$38,225.00 \$4,725.00	\$430.00 \$420.00	\$59,770.00 \$6,300.00	\$290.00 \$345.00	\$40,310.00 \$5,175.00	\$360.00 \$270.00	\$50,040.00 \$4,050.00	\$300.00 \$330.00	\$41,700.00 \$4,950.00
\$3,680.00	\$309.00	\$7,107.00	\$223.00	\$6,532.00	\$540.00	\$12,420.00	\$268.00	\$6,164.00	\$350.00	\$8,050.00	\$98.33	\$2,261.59	\$260.00	\$5,980.00
\$12.32	\$24.00	\$14,784.00	\$9.00	\$5,544.00	\$40.00	\$24,640.00	\$20.00	\$12,320.00	\$30.00	\$18,480.00	\$28.33	\$17,451.28	\$40.00	\$24,640.00
\$5,085.00	\$4.75	\$8,051.25	\$4.25	\$7,203.75	\$8.00	\$13,560.00	\$3.26	\$5,525.70	\$8.00	\$13,560.00	\$3.50	\$5,932.50	\$8.20	\$13,899.00
\$13,923.00	\$131.00	\$15,327.00	\$117.00	\$13,689.00	\$131.00	\$15,327.00	\$102.00	\$11,934.00	\$190.00	\$22,230.00	\$165.46	\$19,358.82	\$200.00	\$23,400.00
\$725.00	\$2.60	\$754.00	\$2.35	\$681.50	\$2.65	\$768.50	\$2.50	\$725.00	\$3.00	\$870.00	\$2.50	\$725.00	\$6.00	\$1,740.00
\$870.00 \$2,550.00	\$1.35 \$133.00	\$587.25 \$3,990.00	\$1.20 \$86.00	\$522.00 \$2,580.00	\$2.00 \$88.00	\$870.00 \$2,640.00	\$2.50 \$60.00	\$1,087.50 \$1,800.00	\$4.00 \$65.00	\$1,740.00 \$1,950.00	\$2.25 \$126.20	\$978.75 \$3,786.00	\$3.00 \$62.00	\$1,305.00 \$1,860.00
\$30,000.00	\$1,198.00	\$35,940.00	\$1,400.00	\$42,000.00	\$940.00	\$28,200.00	\$900.00	\$27,000.00	\$1,500.00	\$45,000.00	\$1,096.10	\$32,883.00	\$1,147.00	\$34,410.00
\$1,000.00	\$1,193.00	\$1,193.00	\$1,300.00	\$1,300.00	\$960.00	\$960.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,225.91	\$1,225.91	\$1,147.00	\$1,147.00
\$12,000.00	\$1,706.00	\$13,648.00	\$2,500.00	\$20,000.00	\$1,600.00	\$12,800.00	\$1,500.00	\$12,000.00	\$2,100.00	\$16,800.00	\$2,069.40	\$16,555.20	\$3,022.00	\$24,176.00
\$1,300.00	\$1,188.00	\$1,188.00	\$1,800.00	\$1,800.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,200.00	\$1,900.00	\$1,900.00	\$1,045.50	\$1,045.50	\$1,444.00	\$1,444.00
\$9,000.00	\$3,232.00 \$16.00	\$9,696.00	\$3,000.00 \$30.00	\$9,000.00	\$4,500.00	\$13,500.00	\$2,200.00 \$15.00	\$6,600.00	\$2,000.00 \$8.00	\$6,000.00	\$2,953.74	\$8,861.22	\$4,100.00	\$12,300.00
\$3,200.00 \$17,325.00	\$16.00 \$101.00	\$2,048.00 \$23,331.00	\$30.00 \$90.70	\$3,840.00 \$20,951.70	\$11.00 \$72.00	\$1,408.00 \$16,632.00	\$15.00 \$102.00	\$1,920.00 \$23,562.00	\$8.00 \$80.00	\$1,024.00 \$18,480.00	\$9.42 \$74.16	\$1,205.76 \$17,130.96	\$5.50 \$105.00	\$704.00 \$24,255.00
\$1,600.00	\$1,881.00	\$1,881.00	\$1,685.00	\$1,685.00	\$1,500.00	\$1,500.00	\$1,860.00	\$1,860.00	\$1,600.00	\$1,600.00	\$1,545.00	\$1,545.00	\$2,285.00	\$2,285.00
\$155.00	\$173.00	\$865.00	\$155.00	\$775.00	\$30.00	\$150.00	\$175.00	\$875.00	\$33.00	\$165.00	\$30.90	\$154.50	\$170.00	\$850.00
\$570.00	\$670.00	\$670.00	\$600.00	\$600.00	\$550.00	\$550.00	\$700.00	\$700.00	\$600.00	\$600.00	\$566.50	\$566.50	\$800.00	\$800.00
\$775.00	\$17.00	\$425.00	\$15.00	\$375.00	\$30.00	\$750.00	\$17.50	\$437.50	\$33.00	\$825.00	\$30.90	\$772.50	\$20.00	\$500.00
\$1,000.00	\$24.00 \$58.00	\$1,200.00	\$20.00 \$50.00	\$1,000.00	\$24.00 \$43.00	\$1,200.00	\$60.00	\$3,000.00	\$21.00 \$55.00	\$1,050.00	\$10.00	\$500.00	\$11.66 \$75.00	\$583.00
\$1,260.00 \$15,000.00	\$58.00 \$10,000.00	\$1,624.00 \$10,000.00	\$11,000.00	\$1,400.00 \$11,000.00	\$43.00 \$14,000.00	\$1,204.00 \$14,000.00	\$100.00 \$30,000.00	\$2,800.00 \$30,000.00	\$35,000.00	\$1,540.00 \$35,000.00	\$30.00 \$20,000.00	\$840.00 \$20,000.00	\$25,000.00	\$2,100.00 \$25,000.00
\$100.00	\$46.00	\$92.00	\$120.00	\$240.00	\$155.00	\$310.00	\$50.00	\$100.00	\$60.00	\$120.00	\$100.00	\$200.00	\$700.00	\$1,400.00
\$800.00	\$558.00	\$1,116.00	\$200.00	\$400.00	\$575.00	\$1,150.00	\$250.00	\$500.00	\$500.00	\$1,000.00	\$250.00	\$500.00	\$3,600.00	\$7,200.00
\$8,000.00	\$10,000.00	\$10,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$7,000.00	\$4,000.00	\$4,000.00	\$20,000.00	\$20,000.00	\$7,500.00	\$7,500.00	\$15,000.00	\$15,000.00
\$20,000.00	\$10,000.00	\$10,000.00	\$20,000.00	\$20,000.00	\$5,000.00	\$5,000.00	\$35,000.00	\$35,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$20,000.00	\$65,000.00	\$65,000.00
\$13,500.00 \$4,269.00	\$47.00 \$2.95	\$14,100.00 \$4,197.85	\$50.00 \$2.00	\$15,000.00 \$2,846.00	\$76.00 \$3.00	\$22,800.00 \$4,269.00	\$30.00 \$3.00	\$9,000.00 \$4,269.00	\$40.00 \$3.00	\$12,000.00 \$4,269.00	\$45.00 \$2.73	\$13,500.00 \$3,884.79	\$57.00 \$16.25	\$17,100.00 \$23,123.75
\$300.00	\$558.00	\$558.00	\$800.00	\$2,840.00	\$5.00 \$500.00	\$500.00	\$5.00 \$550.00	\$550.00	\$5.00 \$550.00	\$550.00	\$515.00	\$5,884.79	\$1,700.00	\$1,700.00
\$250.00	\$56.00	\$280.00	\$200.00	\$1,000.00	\$50.00	\$250.00	\$550.00	\$2,750.00	\$55.00	\$275.00	\$51.50	\$257.50	\$868.00	\$4,340.00
\$10.00	\$1.00	\$10.00	\$50.00	\$500.00	\$160.00	\$1,600.00	\$1.50	\$15.00	\$1.00	\$10.00	\$1.03	\$10.30	\$700.00	\$7,000.00
\$86,250.00	\$110.00	\$82,500.00	\$102.00	\$76,500.00	\$110.00	\$82,500.00	\$106.00	\$79,500.00	\$89.00	\$66,750.00	\$121.52	\$91,140.00	\$106.80	\$80,100.00
\$11,400.00 \$200.00	\$405.00 \$144.00	\$15,390.00 \$288.00	\$244.00 \$200.00	\$9,272.00 \$400.00	\$260.00 \$105.00	\$9,880.00 \$210.00	\$300.00 \$100.00	\$11,400.00 \$200.00	\$240.00 \$100.00	\$9,120.00 \$200.00	\$178.39 \$164.60	\$6,778.82 \$329.20	\$154.00 \$1.00	\$5,852.00 \$2.00
\$1,140.00	\$144.00 \$6.20	\$288.00	\$200.00	\$400.00 \$1,200.00	\$105.00 \$4.00	\$2,400.00	\$100.00	\$1,800.00	\$100.00	\$1,140.00	\$164.60	\$329.20 \$1,362.00	\$1.00	\$2.00
\$5,250.00	\$1,121.00	\$7,847.00	\$1,000.00	\$7,000.00	\$1,055.00	\$7,385.00	\$900.00	\$6,300.00	\$1,200.00	\$8,400.00	\$850.00	\$5,950.00	\$1,050.00	\$7,350.00
\$450.00	\$210.00	\$3,780.00	\$600.00	\$10,800.00	\$63.00	\$1,134.00	\$50.00	\$900.00	\$300.00	\$5,400.00	\$96.38	\$1,734.84	\$350.00	\$6,300.00
\$16,250.00	\$1,168.00	\$15,184.00	\$2,800.00	\$36,400.00	\$1,550.00	\$20,150.00	\$1,410.00	\$18,330.00	\$1,500.00	\$19,500.00	\$947.04	\$12,311.52	\$2,400.00	\$31,200.00
\$3,750.00	\$1,043.00	\$5,215.00	\$3,000.00	\$15,000.00	\$1,500.00	\$7,500.00	\$800.00	\$4,000.00	\$1,500.00	\$7,500.00	\$982.20	\$4,911.00	\$2,000.00	\$10,000.00
\$1,000.00 \$5,000.00	\$1,060.00 \$4,511.00	\$2,120.00 \$22,555.00	\$3,000.00 \$5,000.00	\$6,000.00 \$25,000.00	\$1,600.00 \$5,500.00	\$3,200.00 \$27,500.00	\$1,500.00 \$3,000.00	\$3,000.00 \$15,000.00	\$1,500.00 \$4,600.00	\$3,000.00 \$23,000.00	\$527.14 \$3,687.84	\$1,054.28 \$18,439.20	\$2,400.00 \$7,500.00	\$4,800.00 \$37,500.00
\$7,500.00	\$1,972.00	\$5,916.00	\$3,200.00	\$25,000.00	\$2,900.00	\$8,700.00	\$1,700.00	\$5,100.00	\$2,600.00	\$7,800.00	\$1,916.57	\$5,749.71	\$1,900.00	\$5,700.00
\$800.00	\$481.00	\$962.00	\$550.00	\$1,100.00	\$345.00	\$690.00	\$370.00	\$740.00	\$450.00	\$900.00	\$411.97	\$823.94	\$320.00	\$640.00
\$71,808.00	\$100.00	\$81,600.00	\$50.00	\$40,800.00	\$68.00	\$55,488.00	\$75.00	\$61,200.00	\$64.00	\$52,224.00	\$77.18	\$62,978.88	\$74.00	\$60,384.00
\$86,220.00	\$67.00	\$64,186.00	\$67.00	\$64,186.00	\$73.00	\$69,934.00	\$86.00	\$82,388.00	\$69.00	\$66,102.00	\$112.70	\$107,966.60	\$89.00	\$85,262.00
\$30,100.00	\$71.00 \$89.00	\$21,371.00	\$67.00 \$50.00	\$20,167.00 \$21,417.00	\$78.00 \$70.00	\$23,478.00 \$25,410.00	\$92.00 \$88.00	\$27,692.00	\$86.00 \$63.00	\$25,886.00	\$101.68 \$01.68	\$30,605.68 \$33,270,84	\$105.00	\$31,605.00
\$39,930.00	\$89.00	\$32,307.00	\$59.00	\$21,417.00	\$70.00	\$25,410.00	\$88.00	\$31,944.00	\$63.00	\$22,869.00	\$91.68	\$33,279.84	\$80.00	\$29,040.0

\$19,250.00	\$335.00	\$11,725.00	\$314.00	\$10,990.00	\$465.00	\$16,275.00	\$182.00	\$6,370.00	\$350.00	\$12,250.00	\$572.26	\$20,029.10	\$306.00	\$10,710.00
\$625.00	\$92.00	\$2,300.00	\$30.00	\$750.00	\$56.00	\$1,400.00	\$50.00	\$1,250.00	\$40.00	\$1,000.00	\$64.07	\$1,601.75	\$75.00	\$1,875.00
\$5,985.00	\$15.00	\$5,985.00	\$20.00	\$7,980.00	\$33.00	\$13,167.00	\$20.00	\$7,980.00	\$11.00	\$4,389.00	\$10.03	\$4,001.97	\$22.00	\$8,778.00
\$5,000.00	\$1,300.00	\$13,000.00	\$3,300.00	\$33,000.00	\$2,700.00	\$27,000.00	\$1,750.00	\$17,500.00	\$3,600.00	\$36,000.00	\$1,648.56	\$16,485.60	\$5,000.00	\$50,000.00
\$4,450.00	\$7.75	\$6,897.50	\$14.00	\$12,460.00	\$20.00	\$17,800.00	\$10.00	\$8,900.00	\$14.00	\$12,460.00	\$15.64	\$13,919.60	\$20.50	\$18,245.00
\$2,500.00	\$378.00	\$1,890.00	\$700.00	\$3,500.00	\$300.00	\$1,500.00	\$450.00	\$2,250.00	\$350.00	\$1,750.00	\$353.57	\$1,767.85	\$500.00	\$2,500.00
\$600.00	\$1,000.00	\$1,000.00	\$1,800.00	\$1,800.00	\$800.00	\$800.00	\$6,500.00	\$6,500.00	\$1,100.00	\$1,100.00	\$3,500.00	\$3,500.00	\$15,000.00	\$15,000.00
\$1,700.00	\$223.00	\$3,791.00	\$300.00	\$5,100.00	\$400.00	\$6,800.00	\$500.00	\$8,500.00	\$350.00	\$5,950.00	\$634.67	\$10,789.39	\$400.50	\$6,808.50
\$500.00	\$2,791.00	\$2,791.00	\$500.00	\$500.00	\$2,900.00	\$2,900.00	\$6,200.00	\$6,200.00	\$6,000.00	\$6,000.00	\$5,000.00	\$5,000.00	\$25.00	\$25.00
\$4,950.00	\$104.00	\$5,720.00	\$93.15	\$5,123.25	\$60.00	\$3,300.00	\$105.00	\$5,775.00	\$65.00	\$3,575.00	\$95.94	\$5,276.70	\$105.00	\$5,775.00
\$2,975.00	\$88.00	\$7,480.00	\$79.00	\$6,715.00	\$28.50	\$2,422.50	\$90.00	\$7,650.00	\$32.00	\$2,720.00	\$81.37	\$6,916.45	\$90.00	\$7,650.00
\$3,000.00	\$447.00	\$4,470.00	\$300.00	\$3,000.00	\$400.00	\$4,000.00	\$450.00	\$4,500.00	\$430.00	\$4,300.00	\$412.00	\$4,120.00	\$500.00	\$5,000.00
\$3,000.00	\$335.00	\$3,350.00	\$300.00	\$3,000.00	\$300.00	\$3,000.00	\$350.00	\$3,500.00	\$350.00	\$3,500.00	\$309.00	\$3,090.00	\$500.00	\$5,000.00
\$2,000.00	\$726.00	\$2,904.00	\$650.00	\$2,600.00	\$650.00	\$2,600.00	\$850.00	\$3,400.00	\$700.00	\$2,800.00	\$669.50	\$2,678.00	\$1,000.00	\$4,000.00
\$654,061.32	Sub-Total	\$716,146.15	Sub-Total	\$724,592.20	Sub-Total	\$732,269.50	Sub-Total	\$754,713.70	Sub-Total	\$756,742.00	Sub-Total	\$775,744.50	Sub-Total	\$990,380.25
\$130,812.26	Force Acct (1)	\$143,229.23	Force Acct (1)	\$144,918.44	Force Acct (1)	\$146,453.90	Force Acct (1)	\$150,942.74	Force Acct (1)	\$151,348.40	Force Acct (1)	\$155,148.90	Force Acct (1)	\$198,076.05
\$784,873.58	TOTAL	\$859,375.38	TOTAL	\$869,510.64	TOTAL	\$878,723.40	TOTAL	\$905,656.44	TOTAL	\$908,090.40	TOTAL	\$930,893.40	TOTAL	\$1,188,456.30
-31.76%		-25.29%		-24.41%		-23.60%		-21.26%		-21.05%		-19.07%		3.32%
\$130,812.26	Force Acct (4)	\$143,229.23	Force Acct (4)	\$144,918.44	Force Acct (4)	\$146,453.90	Force Acct (4)	\$150,942.74	Force Acct (4)	\$151,348.40	Force Acct (4)	\$155,148.90	Force Acct (4)	\$198,076.05
\$784,873.58	TOTAL	\$859,375.38	TOTAL	\$869,510.64	TOTAL	\$878,723.40	TOTAL	\$905,656.44	TOTAL	\$908,090.40	TOTAL	\$930,893.40	TOTAL	\$1,188,456.30
\$78,487.36	Bond Amount (Page P- 45)	\$85,937.54	Bond Amount (Page P-45)	\$86,951.06	Bond Amount (Page P- 45)	\$87,872.34	Bond Amount (Page P- 45)	\$90,565.64	Bond Amount (Page P- 45)	\$90,809.04	Bond Amount (Page P- 45)	\$93,490.98	Bond Amount (Page P- 45)	\$118,845.63
Ohio Farmers Insurance Co.	Bonding Company (Page P-33)	Star Insurance Co.	Bonding Company (Page P-33)	International Fidelity	Bonding Company (Page P-33)	Ohio Farmers Insurance Co.	Bonding Company (Page P-33)	Colonial Surety Co.	Bonding Company (Page P-33)	Great American Insurance Co.	Bonding Company (Page P-33)	Cincinnati Insurance Co.	Bonding Company (Page P-33)	American contractors Indemnity Co.
\$78,487.36	Proposal Bond Amount Required (P-32)	\$85,937.54	Proposal Bond Amount Required (P-32)	\$86,951.06	Proposal Bond Amount Required (P-32)	\$87,872.34	Proposal Bond Amount Required (P-32)	\$90,565.64	Proposal Bond Amount Required (P-32)	\$90,809.04	Proposal Bond Amount Required (P-32)	\$93,089.34	Proposal Bond Amount Required (P-32)	\$118,845.63
31-0724866	Contract Compliance No. (Page P-6)	31-1029004	Contract Compliance No. (Page P-6)	31-1293605	Contract Compliance No. (Page P-6)	31-0857095	Contract Compliance No. (Page P-6)	31-1345111	Contract Compliance No. (Page P-6)		Contract Compliance No. (Page P-6)	31-0983557	Contract Compliance No. (Page P-6)	30-0160262
	Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)		Non-Collusion Affidavit Completed? (Page P-36)	Y	Non-Collusion Affidavit Completed? (Page P-36)		Non-Collusion Affidavit Completed? (Page P-36)		Non-Collusion Affidavit Completed? (Page P-36)	Y
Y	Local Vendor? (Page P-	Y	Local Vendor? (Page P-11)	Y	Local Vendor? (Page P-		Local Vendor? (Page P-	Y	Local Vendor? (Page P-	Y	Local Vendor? (Page P-	Y	Local Vendor? (Page P-	Y
Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y	Addendum Acknowledgement Completed? (Page P-43)	Y
	Proposal Affidavit Completed? (Page P-38)	Y	Proposal Affidavit Completed? (Page P-38)	Y	Proposal Affidavit Completed? (Page P-38)		Proposal Affidavit Completed? (Page P-38)	Y	Proposal Affidavit Completed? (Page P-38)	Y	Proposal Affidavit Completed? (Page P-38)		Proposal Affidavit Completed? (Page P-38)	Y

					UNIT PRICE IN FIGURES I							ION
										SUM ERIAL	TOTAL IN	,
REF.	ITEM		ESTIMATED		MATER	MATERIAL LABOR			AND LA	BOR	FIGURE	ES
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$	".00"
1	201	Clearing and Grubbing	1	LUMP					60000		60,000	
2	202	Sidewalk Removed and Disposed Of	22	S.F.					12		264	
3	202	Headwall Removed	2	EA					300		600	
4	202	Sewer Pipe Removed	165	L.F.					20		3,300	
5	207	Storm Sewer Inlet Protection	55	EA.					125		6,875	
6	252	Driveway Replacement per 2160, Type III B	26	C.Y.					400		10,400	
7	252	Permanent Pavement Replacement per 1441 w/ heat	17	C.Y.					500		8,500	
8	252	Permanent Pavement Replacement per 1441 w/o heat	139	C.Y.					350		48,650	
9	252	Permanent Pavement Replacement per 1441 Type V	15	C.Y.					500		7,500	
10	252	Permanent Pavement Replacement per Section A Sheet 17	23	S.Y.					600		13,800	
11	253	Temporary Pavement Replacement	616	S.Y.					20		12,320	
12	254	Pavement Planning	1695	S.Y.					6		10,170	
13	404	Asphalt Concrete	117	TON					100		11,700	
14	407	Tack Coat	290	GAL.					4		1,160	
15	413	Crack Seal	435	L.F.					4		1,740	
16	601	Rock Channel Protection - Type B	30	C.Y.					100		3,000	
17	604	Standard Catch Basin, per Std. Dwg. Type AA-S133	30	EA.					1,500		45,000	
18	604	Standard Catch Basin, per Std. Dwg. Type AA-S134	1	EA.					2,000		2,000	
19	604	Standard Manhole, Type C, per Std. Dwg. AA-S102	8	EA.					2,400		19,200	
20	604	Standard Curb and Gutter Inlet w/ Mountable frame per AA-S125	1	EA.					2,200		2,200	
21	604	Standard Headwall per AA-S166	3	EA.					5,000		15,000	
22	604	6" Underdrain	128	L.F.					18		2,304	

												ION
									TOTAL		TOTAL	
REF.	ITEM		ESTIMATED		MATER	ΝΔΙ	LABO	)B	OF MATE AND LA		IN FIGURE	FS
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$	".00"
23	606	Nested Guardrail, Type 5, with Tubular Backup	231	L.F.				1	90		20,790	$\vdash$
24	606	Anchor Assembly, Type B	1	EA					1,600		1,600	
25	606	W-Beam Flared End, per Std. Dwg. GR-1.1	5	EA					40		200	
26	606	Bridge Terminal Assembly, Type 4	1	EA					700		700	
27	606	Guardrail, Type 5	25	LF					20		500	
28	608	4" Concrete Walk (include base)	50	S.F.					12		600	
29	609	Mountable Curb and Gutter	28	L.F.					30		840	
30	614	Maintaining Traffic	1	LUMP					50,000		50,000	
31	616	Water	2	M. GAL					100		200	
32	616	Calcium Chloride	2	TON					500		1,000	
33	623	Construction Staking Layout	1	LUMP					30,000		30,000	
34	624	Mobilization	1	LUMP					100,000		100,000	
35	653	Topsoil Furnished and Placed (as Directed)	300	C.Y.					60		18,000	
36	659	Seed and Mulching	1423	S.Y.					4		5,692	
37	659	Commercial Fertilizer	1	TON					500		500	
38	659	Agricultural Liming	5	TON					400		2,000	
39	659	Water	10	M. GAL.	T				40		400	
40	801	6" Ductile Iron Water Pipe and Fittings	750	L.F.					115		86,250	
41	801	12" Ductile Iron Water Pipe and Fittings	38	L.F.					150		5,700	

				UNIT PRICE IN FIGURES TOTAL SUM							EXTENSION	
										ERIAL	TOTAL IN	د
REF.	ITEM		ESTIMATED		MATER		LABO		AND LA		FIGURE	
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$	".00"
42	801	Concrete Blocking, Class C, Increase or Decrease	2	C.Y					125		250	
43	801	Fittings, Increase or Decrease	600	LBS.					3		1,800	
44	802	6" Valve and Appurtenances	7	EA.					1,000		7,000	
44				EA.					,		,	
45	805	Curb Box (as Directed)	18	EA.					200		3,600	
46	805	3/4" Water Service Tap Transferred	13	EA.					1,200		15,600	
47	805	3/4" Water Service Tap Transferred (as Directed)	5	EA.					1,200		6,000	
48	805	3/4" Water Service Tap, Complete (as Directed)	2	EA.					5,000		10,000	
49	808	Relocate 6" Water Line (as Directed)	5	EA.					3,000		15,000	
50	809	Fire Hydrant	3	EA.					3,100		9,300	
51	810	6" Hydrant Extension	2	EA.					450		900	
52	901	12" Pipe with Type I Bedding	816	L.F.					55		44,880	
53	901	12" Pipe with Type I Bedding, including Item 912 Backfill	958	L.F.					70		67,060	
55	901	18" Pipe with Type I Bedding	363	L.F.					75		27,225	
56	901	42" Type IV RCP, including Item 912 Backfill	35	L.F.					350		12,250	•
57	906	Stone Foundation - (as Directed)	25	C.Y.					50		1,250	
58	910	Plain Concrete Encasement of 12" Diameter Pipe	399	L.F.					25		9,975	
59	918	Sanitary House service relocation, per Detail B/17 (As Directed)	10	EA.					1,750		17,500	
60	SPECIAL	Linear Ditch Grading, per Detail A/17	890	L.F.					10		8,900	
61	SPECIAL	Inlet Adjusted (as Directed)	5	EA.					500		2,500	
62	SPECIAL	Survey Coordinates	1	LUMP					5,000		5,000	

						UNI	T PRICE IN	I FIGU	RES		EXTENS	ION
									TOTALS		TOTAL	L
									OF MATE		IN	
REF.	ITEM		ESTIMATED		MATER	IAL	LABO	R	AND LA		FIGUR	
NO.	NO.	DESCRIPTION	QUANTITIES	UNIT	\$	".00"	\$	".00"	\$	".00"	\$	".00"
63	SPECIAL	Expose Gas Service prior to construction, as per plan	17	EA.					500		8,500	i
64	SPECIAL	Daily Street Cleanings (As Directed)	1	LUMP					15,000		15,000	
65	SPECIAL	Wooden Fence (Removed and Reinstalled)	55	L.F.					60		3,300	
66	SPECIAL	Metal Fence (Removed and Reinstalled)	85	L.F.					50		4,250	)
67	SPECIAL	3"-6" DBH Norway Spruce (Picea Abies) Tree (as Directed)	10	EA.					300		3,000	1
68	SPECIAL	3"-6" DBH White Pine (Pinus Strobus) Tree (as Directed)	10	EA.					300		3,000	i
69	SS-27	Project Identification Sign, Per Detail Sheet 4	9	EA.					800		7,200	,

\$6,000.00
\$5.00
\$100.00
\$8.00
\$80.00
\$315.00
\$720.00
\$210.00
\$290.00
\$145.00
\$5.00
\$3.00
\$115.00
\$3.00
\$2.00
\$100.00
\$900.00
\$900.00
\$1,400.00
\$1,200.00
\$1,800.00
\$25.00
\$72.00
\$1,500.00
\$30.00
\$553.00
\$32.00
\$25.00
\$50.00
\$14,000.00
\$10.00
\$500.00
\$3,000.00
\$10,000.00
\$25.00
\$5.00
\$650.00
\$20.00
\$50.00
\$115.00
\$100.00
\$65.00
\$1.25
\$900.00
\$25.00
\$900.00
\$900.00

\$900.00
\$2,000.00
\$3,000.00
\$200.00
\$75.00
\$90.00
\$105.00
\$105.00
\$500.00
\$10.00
\$10.00
\$1,000.00
\$15.00
\$150.00
\$1,410.00
\$500.00
\$1,500.00
\$63.00
\$30.00
\$425.00
\$310.00
\$600.00